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Topological sort algorithm c

Programming C to use the sample topology sorting algorithm. Here's a simple program to use the template sorting algorithm snippet in the C programming language, the top theological sorting or sequence. Topological's graph directed is a linear sequence of its vertices, so that for all the directed edges (u v) from vertex u to vertex v, u come first. For example, the vertices
of a graph may indicate the task to be performed, and the edge may represent a constraint that one task must perform before another task. In this application, sequencing theology is just the correct order for the job. Geological order is possible if and only if the graph does not have a directing cycle, that is, if it is a graph. Dag has at least one geological order, and the
algorithm is known to create the top order of any DAG in linear time Read more: C program for creating a minimum expansion tree using Prim's algorithm below is the source code for program C to use the sample theological sorting algorithm, which successfully collects and runs on the Windows system to produce the desired output as shown below: Source Code: /* C
program to use the sample geological sorting algorithm */ #include&lt;stdio.h&gt; &lt;stdlib.h&gt; #include #define MAX 100 int n; create_graph /*The number of vertices in the graph*/ int adj[MAX]; Tuay insert_queue(int v); int delete_queue(); int isEmpty_queue(); int indegree(int v); int main() { int i, v, count,topo_order[MAX], indeg[MAX]; create_graph(); *@un1a11ulai
wUduauuadsiazanean*/ &1usu (i=0;i &lt;n;i++) {= indeg[i]=indegree(i); if(= indeg[i]== 0= )= insert_queue(i);= }= count=0; while(= lisempty_queue(= )= &amp;&amp;= count=&gt;&It;/m;i++)&gt; &lt; n=)= {= v=delete_queue(); topo_order[++count]=v; add= vertex= v= to= topo_order= array*/= delete= all= edges= going= fron= vertex= v=*/= for(i=0;&gt; &It;n; i++)= {= if(adj[v]
[i]== 1)= {= adj[v][i]=0; indeg[i]=indeg[i]-1; if(indeg[i]== 0)= insert_queue(i);= }= }= }= if(= count=&gt;&It;/n;&gt; &lt; n=)= {= printf(no= topological= ordering= possible,= graph= contains= cycle);= exit(1);= }= printf(vertices= in= topological= order= are= :);= for(i=1;&gt; &lt;=count; i++)= printf(= %d= ,topo_order[i]= );= printf();= return= 0;= }/*end= of= main()*/= void=
insert_queue(int= vertex)= {= if= (rear== max-1)= printf(queue= overflow);= else= {= if= (front== -1)= if= queue= is= initially= empty= */= front=0; rear=rear+1; queue[rear]=vertex ;= }= }/*end= of= insert_queue()*/= int= isempty_queue()= {= if(front==-1=||= front=&gt;e1Und9) F9ndu 1; ﬁyu 9 0} *9adugauag isEmpty_queue()*/ int delete_queue() { int del_item; &1 (f1untin
== -1 || druntin &gt; iunde) { printf(@tiaaiuli); exit(1 del_item del_item); *yaduganuasdelete_queue() */ int indegree(int v) { int i,in_deg = 0; for(i=0; i &lt;n; i++) if(adj[i][v] i++)= if(adj[i][v]=&gt;&It;/n; i++) if(adj[il[v] &gt; &It;/=count;&gt; &lt;/stdlib.h&gt; 1)in_deg++; ds@uin_deg; Y*yadugauas indegree() */ Tuwe create_graph() { int i, max_edges,origin,destin; printf({lau
IuIBUAY vertices : ); dn (%d,&amp;amp;n); max_edges = n*(n-1); §1udu(i=1; i&lt;=max_edges; i++)= {= printf(enter= edge= %d(-1= -1= to= quit):= ,i);= scanf(%d= %d,&amp;origin,&amp;destin);= if((origin== -1)= &amp;&amp;= (destin== -1))= break;= if(= origin=&gt;= n || &gt;= n || &It;0 || =&gt;&It;/0&gt; &It;0) {= printf(invalid= edge!); = i--;= }= else= adj[origin]
[destin]=1; }=}=
123456789101112131415161718192021222324252627282930313233343536373839404142434445464748495051525354555657585960616263646566676869707172737475767778798081828384858687888990919293949596979899100101102103104105106107108109110111112113114115116117118119120121122123124125126127128129130131132133134135=
c= program= to= implement= topological= sorting= algorithm= example=&gt;&It;/0)&gt; &lt;stdio.h&gt;&lt;stdlib.h&gt;#include#define MAX 100int n; n;  ASruiugaaanTunsiw/int adjiMAX]IMAX]; Hundndag@indu/Tuwe create_graph();@2 intMAX], sinuntin = -1,61unds = -1; 14w insert_queue(int v);int delete_queue();int isEmpty_queue();int indegree(int v);int main(){

int i,v,count,topo_order[MAX],indeg[MAX]; create_graph(); create_graph.) FAunT &lt;n;i++) { indeg[i] == indegree(i); if(= indeg[i]== 0=) insert_queue(i); } count=0; while( lisEmpty_queue( )= &amp;&amp;= count=&gt;&It;/n;i++) { indeg[il&gt; &lt; n=

) { v=delete_queue(); topo_order[++count] == v;= add= vertex= v= to= topo_order= array*/ /*delete= all= edges= going= fron= vertex= v=*/ for(i=0;&gt; &lt;n; i++) { if(adj[v][i]== 1) { adj[v][i]=0; indeg[i] == indeq][i]-1; if(indeg[i]==

0) insert_queue(i); } } } if(= count=&gt;&lt;/n;&gt; &lt; n=") { printf(no= topological= ordering= possible,= graph= contains= cycle); exit(1); } printf(vertices= in= topological= order= are=:); for(i=1;&gt; &It;=count; i++) printf( %d ,topo_order[i] ); printf(); return 0;} /*End
of main()*/void insert_queue(int i++) printf(= %d= ,topo_order[i]=); printf(); return= 0;} /*end= of= main()*/void= insert_queue(int=&gt;&It;/=count; i++) printf( %d ,topo_order[i] ); printf(); return 0;} /*End of main()*/void insert_queue(int &gt, A luiuauuaswsiazynaan*/ d115u(i=0;i&lt;/stdlib.n&gt; &lt;/stdio.h&gt; &lt;/=max_edges;&gt;

(rear == MAX-1) type (queue overflow); Others { if (front == -1) / *if the queue is empty at first */ Front isEmpty_queue insert_queue = 0; If (front == -1 || &gt;rear) Returns del_item delete_queue isEmpty_queue 1; If (front == -1 || &gt;rear) { printf(queue too little); exit(1); } 8w 4 { del_item = @7 [f1untin]; aruntii=ar1untin+1; doaudel_item; }*andugnuasdelete_queue()
*/int indegree(int v){ int i,in_deg = 0; for(i=0; i &It;n; i++) if(adj[ij[v]== 1) in_deg++; return=in_deg;}/*end= of= indegree()= */void= create_graph(){ int= i,max_edges,origin,destin; printf(enter= number= of= vertices= :=); scanf(%d,&amp;n); max_edges=n*(n-1); for(i=1;&gt;&lt;/n;&gt; &lt;=max_edges; i++) { printf(enter= edge= %d(-1= -1= to= quit):= ,i); scanf(%d=
%d,&amp;origin,&amp;destin); if((origin==-1)= &amp;&amp;= (destin==-1)) break; if(= origin=&gt;= n || &gt; = n &lIt;0 ||=&gt;&lt;/0&gt; &It;0) { printf(Invalid edge!); i--; } else adj[origin][destin] = 1; }} OUTPUT : : /* C Program to implement Topological Sorting Algorithm Example */ Enter number of vertices : 6 Enter edge 1(-1 -1 to quit): 0 1 Enter edge 2(-1 -1 to quit): O 2 Enter
edge 3(-1 -1 to quit): 0 3 Enter edge 4(-1 -1 to quit): 1 3 Enter edge 5(-1 -1 to quit): 2 4 Enter edge 6(-1 -1 to quit): 2 5 Enter edge 7(-1 -1 to quit): 3 5 Enter edge 8(-1 -1 to quit): 4 5 Enter edge 9(-1 -1 to quit): 1 5 Enter edge 10(-1 -1 to quit): -1 -1 Vertices in topological order are : 0 1 2 3 4 5 Process returned 0 12345678910111213141516171819202122232425262728 /* C
Program to implement Topological Sorting Algorithm Example */Enter number of vertices : 6Enter edge 1(-1 -1 to quit): 0 1Enter edge!); i--; } else adj[origin][destin]=1; }} output= := := c= program= to= implement= topological= sorting= algorithm= example= */= enter= number= of= vertices= := 6= enter= edge= 1(-1= -1= to= quit):= 0= 1= enter= edge= 2(-1= -1= to= quit):= 0=
2= enter= edge= 3(-1= -1= to= quit):= 0= 3= enter= edge= 4(-1= -1= to= quit):= 1= 3= enter= edge= 5(-1= -1= to= quit):= 2= 4= enter= edge= 6(-1= -1= to= quit):= 2= 5= enter= edge= 7(-1= -1= to= quit):= 3= 5= enter= edge= 8(-1= -1= to= quit):= 4= 5= enter= edge= 9(-1= -1= to= quit):= 1= 5= enter= edge= 10(-1= -1= to= quit):= -1= -1= vertices= in= topological= order=
are=:= 0= 1= 2= 3= 4= 5= process= returned= 0= 12345678910111213141516171819202122232425262728= c= program= to= implement= topological= sorting= algorithm= example= */enter= number= of= vertices= := 6enter= edge= 1(-1= -1= to= quit):= 0= lenter=&gt;&It;/0) { printf(Invalid edge!); i--; } else adj[origin][destin] = 1; }} OUTPUT : : /* C Program to implement
Topological Sorting Algorithm Example */ Enter number of vertices : 6 Enter edge 1(-1 -1 to quit): 0 1 Enter edge 2(-1 -1 to quit): 0 Enter edge 3(-1 -1 to quit): 0 3 Enter edge 4(-1 -1 to quit): 1 3 Enter edge 5(-1 -1 to quit): 2 4 Enter edge 6(-1 -1 to quit): 2 5 Enter edge 7(-1 -1 to quit): 3 5 Enter edge 8(-1 -1 to quit): 4 5 Enter edge 9(-1 -1 to quit): 1 5 Enter edge 10(-1 -1 to
quit): -1 -1 Vertices in topological order are : 0 1 2 3 4 5 Process returned 0 12345678910111213141516171819202122232425262728 /* C Program to implement Topological Sorting Algorithm Example */Enter number of vertices : 6Enter edge 1(-1 -1 to quit): 0 1Enter &gt; || 9at3u6AUu&lt;/=max_edges;&gt; InLsuau&lt;/=max_edges;&gt; 2(-1-1 to quit): 0 2 Participants
margin 3(-1-1 to break up): 0 3 participants edge 4(-1-1 to be released): 1 3 participants edge 5(-1-1 to break up): 2 4Enter Margin 6(-1-1-1 to quit): 2 5 edgeenter7(-1-1 to break up): 35 edgeenter8 (-1- 1 to break up): 45 edgeenter9(-1-1 to break up): 15 edgeenter10 (-1- 1 to quit): -1 -1Vertices: 15 edgeenter10(-1- 1 to break up): -1-1Vertices In the top orderis:01 2 3 4
5Process If you encounter any errors or concerns related to the above program or any questions or comments you would like to ask from us, you can contact us through our contact page or you can leave a comment below in the comments section. We will try our best to reach you in a short time. Thank you for reading the post... Featured post::
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